index No:

Anglo-Qhinese School (Funior)
Auglo-Ghinese School (Primary)
PRELIMINARY EXAMINATION 2016
i SCIENCE
BOOKLET A
PRIMARY SIX
Name: ( ) Class: Primary 6 __

Date: 25 August 2016 Duration of paper: 1 h 45 min




PART |

For each question from 1 to 30, four options are given. One of them is the correct answer. Make your
choice (1, 2, 3 or 4) and shade your answer on the Oplical Answer Sheet.

(60 marks)

1 The flowchart below shows the human digestive system. P and Q represent substances found in

the system while R and S represent substances leaving the organs in the system.

Large intestine

.

Out of the body

Mouth )
P) -

}

Gullet

!

Stomach
(@)

|

Small intestine

l{R)

All parts of the
body

Which one of the following comrectly identify P, Q, R and S?

P Q R S
%)) digestive juice - saliva water ~ digested food
(2) saliva digested food digestive juice’ water
3) digestive juice water saliva digested food
4) saliva digestive juice digested food water

(Go on to the next page)




2

3

Jonathan wanted to set up an experiment to find out if carbon dioxide is necessary for plants to

make food as shown in the diagram below.

R

sunlight

plant —

—— bell jar

cup with chemical
that removes

d carbon dioxide

Whichone of the following is a suitable control for his experimeni’?

)

(2)

sunlight ' sunlight
K—\ bell jar bell jar
r_ covered
with black
plant cloth
cup with chemical
|- that removes
carbon dioxide
3 _ (4) .
sunlight bell jar sunlight
covered /_\
with black __bell jar
cloth
plant
cup with chemical
that removes
carbon dioxide

(Go on to the next page)



3 The diagrams below show part of the transport system of a plant and a human body.

Which of the following statements are true of the systems?

(1)
2
3)
(4)

A

B
C
D

Nutrients are transported within both systems.
Food made by the leaves is transported to all parts of the plant.
Blood is transported from the heart to the rest of the body and back to the heart again.

Water is absorbed by the soots and transported to the rest of the plant and back to the
roots again.

A and C only
B and D oniy
A, B and C only
A, B and D only

4 The diagram below shows three cells.

CellA

Which parts are found in all three cells?

1
2
R
4

Cell wall and nucleus

.Cell wall and cytoplasm

Cytoplasm and cell membrane
Cell membrane and chloroplast

(Go on to the next page)
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5

Which one of the following graphs best represents the correct volume of oxygen, carbon dioxide
and nitrogen found in inhaled air and exhaled air?

(2)
Volume

(3

Volume

4

Volume

Key

Inhaled air Exhaled air

I

F

dioxide

Type of gas
t
©
carbo oxygen nitrogen Type of gas
dioxide
B

— ] .

carbon oxygen nitrogen Type of gas

dioxide
A

carbon Type of g;s

(Go on to the next page)



6  Study the circuit shown below.
S1

B3 B2 s2 B1

—o O
S3

Which one of the following statements about the circuit above is correct?
(1) When S2 is closed, at least 1 bulb will light up. -
(2) When S1 and S2 are closed, 2 buibs will light up. .

(3) If B3 fuses, B1 and B2 will not light up when ali the switches are closed.
4) If B2 fuses, B1 will light up while B3 will not light up when all the switches are closed e

7 The diag';)ram below shows three circuit diagrams. All bulbs, batteries and wires are similar and are

in good working condition.

]“!H ——"lllif— ll }
& —&—
B

Circuit X Circuit Y Circuit Z

Arrange the circuits from the brightest bulbs to the dimmest bulbs.

Brightest bulbs ———e dimmest bulbs
(1) X Y Z
(2) X Z Y
3 Y z X
(C)) Y X Z

{Go on to the next page)



Study the flowchart below.

Start

Can it make its Yes Does it bear Yes
own food? fruit? A
No No
\ 4
Does it reproduce Yes B
C
by spores?
No
I )
Which one of the following most likely represent, A, B, C and D?
A B C D
(1) Fem Animal Flowering plant Bacteria
2 Flowering plant Fern Fungus Animal
(3 : Animal Fungus Bacteria Flowering plant
{4) Flowering plant | Bacternia Fungus Animal

Study the transfer of energy below.
Sun - X—-Y-2Z
What does the transfer of energy show?

A X is the food producer.
B Y feeds on X to obtain energy.

C Food that Y and Z eat comes directly from the Sun.

(1) A and B only
(2) A and C only
3) B and C only
(4) A,BandC

{Go on to the next page)
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10 Phil set up the experiment as shown below. He placed a piece of wood at four different positions,
and measured the height of each shadow formed on the screen.

/
torchlight Piece of wood
L ) ®
screen
- Position Position Position  Position
4 3 2 1

Which graph shows the correct relationship between the position of the piece of wood and the
height of the shadow formed?

™) N (2 s
Height Height
of the of the
shadow shadow v
> Position » Position
1 2 3 1 2 3 4
3 Height | @ 1
of the Height
of the
shadow shadow
» Position » Position
1 2 3 4 1 2 3 4
ks

{Go on to the next page)
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11 An experiment was set up with four identical rods made of different materials, W, X, Y and Z, at the
same temperature of 30°C. The rods were placed in a container of ice cubes as shown below.

container with
ice cubes

After ten minutes, the rods were taken out and their temperatures were recorded in the table
below. .

Materials Temperature (°C)
W 4
X 20
Y 10
0l 28

Based on the resuit above, which material is most suitable for making the part labelled ‘H'?

H

pot

(1)
@)
)
(4)

N<Xsg

(Go on to the next page)
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12 Kenny set up an experiment as shown below. An iron ball was heated to 90°C and a ceramic ball
was cooled to 5°C. They were then immediately placed into beaker A and beaker B as shown in

the diagram below.

at 80°C

iron ball

- ceramic

Beaker B

ball at 5°C

What would happen to the temperature of the water in both beakers in the next few minutes 7

Temperature of water in Temperature of water in
Beaker A BeakeriB
(1) decrease decrease A
(2) decrease increase
(3) increase increase
4) increase decreasej

13 A, B, C and D were blobs of wax placed on a metal ring as shown in the diagram below.

Point Q

When the ring was heated at a certain point, the order in which the drops of wax mefted was D, A,
C and B. Atwhich point, Q, R, S or T was the ring heated?

(1)
(2)
(3)
4)

Point Q
Point R
Point S
Point T

(Go on to the next page)
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14  Jason placed two cubes of different materials but of the same size on two identical springs. As a
" result, the springs were compressed as shown below.

Based on his observation, Jason can conclude that

)] Cube A is heavier than Cube B

(2) the compressed spring with Cube A has less elastic potential energy than the
compressed spring with Cube B

{I) the compressed spring with Cube A has less gravitational potential energy than the
compressed spring with Cube B

(4) the elastic potential energy in the compressed spring with Cube A will be converted to
more kinetic energy than the compressed spring in Cube B -

15  Study the diagram of a toy plane below.

wooden frame

propeller

rubber band

Which part of the toy plane possesses the source of energy which enables it to move when it is

released?
1) Wings
{(2) Propeller

(3) Wooden frame
4 Twisted Rubber band

o {Go on to the next page)
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16  Joe set up an experiment as shown below. When the steel paper clip moved towards the iron rod,
Joe measured the angle z from the starting position as shown below.

r

starting position
¥

steel paper clip
hung from a string

What changes to the experiment could Joe make to decrease angle z?
(1) Decrease the number of batteries.

(2) Move the circuit slightly to the right.

(3) Replace the steel paper clip with a lighter one.

(4) Increase the number of coils around the iron rod.

17  When a magnet is broken into two pieces, each piece will have its own poles.
Kyle broke a bar magnet into three pieces as shown below.

o\ °

Each piece was brought near to another piece of the broken magnet. Which one of thé foliowing
below is most likely correct?

o) oll @
Attracted Repelied

(3) \ © 4) e \
Attracted . Repelled

(Go on to the next page)
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18 Tom conducted an experiment using springs P and Q. He hung different loads at a time on each
spring and recorded their lengths. The results are shown in the graph below.

length of spring (cm)
A

0 10 20 30 40 50 load(g)

Which of these conclusions could Tom make based on his results?

Spring that is longer at the start of Spring that can be stretched more with
the experiment the same load
M Q =
(2) P P
(3 P Q:
(4) Q Q )

19 An iron ball is rolled up an iron ramp which has a strong magnet attached on its underside as
shown below.

iron ramp

fron ball

Which of these forces is/are acting on the moving iron ball?

A Gravity

B Friction

C Magnetic

D  Weight of the ramp
(1) Conly

(2) A andBonly
(3) B, CandDonly
(4) A B CandD

{Go on to the next page)



20

21

14

Gary wanted to find out the effect of water on photosynthesis. He used the same type of plants in
each set-up. He listed the different conditions in his five sét—upé as shown in the table below. A tick

(v ) indicates that the set-up has the condition.

Set-up
Condition

A B C E
Oxygen v v v
Carbon dioxide v v v
Water v v

Fertilizer v
- Sunlight v v v v

Which two set-ups should be used to show that water is needed for the plant to make food?

1 Aand D
(2 Band E
(3) Cand D

(4) Dand E

Study the food web below.
B —»C

T

Af—or E ——+F ———p D

.

G.

Based on the food web, which one of the following will cause a decrease in the population of F?

(1) Anincrease in the population of A
(2) Anincrease in the population of E
(3) Anincrease in the population of G

(4) A decrease in the population of D

{Go on to the next page)
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22 Rio wanted to find out how fast water flow through different types of soil. He used the set-up below.

beaker of water

A 4

tray of soil.
basin —-1 J ; ' B

He poured 300 mi of water onto soil W at one end of the tray and aliowed the water to flow into the

basin. After 5 seconds, he measured the volume of the water collected in the basin. He repeated
the experiment with soil X, Y and Z. The graph below shows the resuits of the experiment.

Volume of ?
water
collected in
the basin (ml)

>
»-

w X Y Z Type of soil

Rio wanted to plant a cactus which requires soil that allows water to pass through easily. Which
soil is the most suitable for the cactus to grow in?

1 w
) X
(3) Y
4 Z

'h (Go onto the next page)
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23 The diagrams below show the life cycles of insects P and Q.

24

TN

£ 0
& v ~

Insect P Insect Q

Based on the diagrams above only, which of the following statements about insects P and Q is/are

true?

&)
()
(3)
(4)

A
B
C
D

A only

Both adults lay eggs.
Both adults do not have wings.
Insect P lives longer than insect Q.

Both their young looks like their adult.

A and C only
B and C only
B and D only

The four statements A, B, C and D below describe the processes of plant reproduction.

A

B

C

D

The male sex cell fuses with the female sex cell.
When water is present, the roots of the seeds will appear first.
The fruit splits open and the seeds are carried away by the wind:

When the insects collect the nectar, they also transfer pollen grains to the flower.

In which order does the process of plant reproduction occur within one cycle?

M
(2)
©)

4@

A, C, B D
B,A CD
A, 8,CD

D.B,C A

{Go on to the next page)
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25 The diagram below shows the water cycle.

Y ' clouds \ 2

water vapour l rain

N

Which ;)f the following statement(s) about the water cycle is/are correct?

A At stage Y, the water vapour loses heat to the surroundings.
8 At stage X, the water in the river loses heat to the surroundings. .

C At stage Z, the clouds gained heat from the surroundings to form rain.

(1) Aonly
{2) Bonly
(3) AandBonly
(4 AandConly

26  The table below shows how the vanious parts, A, B, C, and D, of the reproductive system in a

human and a plant are similar in their function.

| Reproductive System
Human r Plant
A egg X
B ovary ovary '
c Y pollen grain
D z anther

Which cne of the following shows the correct representation of X, Y and Z?

X ‘ Y z 5
) ovule sperm testes
(2) seed o sperm testes
(3) ovule testes penis
@) : seed } testes penis ‘

ol (Go on to the next page)
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The diagram below shows a pump connected to a sealed container, with a capacity of 500 cm?3,
through a thin tube. A block of metal with a volume of 30 cm® was placed inside the container.

60cmiofair  pump

\ - =

30 cm® of water

tube

container
30 cm® metal block

When the pump was completely pushed in, the 30 cm?® of water and 60 cm?® of air was forced into
the container.

What would be the final volume of the air inside the container?

M
@
3)
@

120 cm?®
380 cm?
440 cm?®
470 cm®

The diagram below shows a water bird which catches and feeds on fish.

water

Based on the diagram above, which one of the following adaptations of the bird does not match

the function for catching fish?
Adaptation Function
(1) Beak To help it grab fish.
2 Long beak | To help it reach into the water to catch fish.
7(3) Long legs | To keep its feathers dry for flying.
4) Thinlegs | To make it look like tree branches so they can avoid being detected by fish.

(Go on to the next page)
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29 Melissa heated a substance for 30 minutes and measured its temperature during that 30 minutes
at one-mlnute intervals. She plotted her results in a graph as shown below.

Temperature of substance (°C) 4

B L L

“wemrecwranrrT o

Time (min)

()
(77 T T A,
Qo

Based on the graph above, which of the following statements are true?
A The substance is at the same state at points W and X.
B The substance is at the same state at points X and Y.
C The substance loses heat to the surroundings at point W.

D The substance continues to gain heat from the heat source at point Z.

(1) AandB only
(2) Band C only
(3) Band D only

4) A, C} and D only

(Go on to the next page)
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30 The diagram below shows Mary’s family tree. A key to show the presence of the physical
characteristic of dimples for the different family members is given.

Key: D male without dimples O female without dimples

% male with dimples % female with dimples

- Mary’s grandfather Mary's grandmoﬂ;ér

: O

D

Which one of the following, A, B, C or D, best represents Mary in the family tree if Mary has

dimples?
M A
2 B
(3 C
4) D

9 (Go on to Booklet B)
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PART il

For questions 31 to 44, write your answers in this booklet.
The number of marks available is shown in brackets [ ] at the end of each question or part
question.

{40 marks)

31

Ravi wanted to find out which material, X or Y, would be more suitable to hang clothes to dry.
‘He hung the two poles of the same mass and size as shown below.

pole made of

le made of
e Material Y

Material X

- -

pole holder 5

wall

He then hung a 10 kg weight on each pole and the result is shown below.
pole made of pole made of
Material Y

- -
e s > £

{a) Based on the results, what property of the material was Ravi testing? {1}

(f)) What two variables must Ravi keep the same while conducting the experiment? [1]

{c) Ravi wanted to use either pole X or Y for fishing instead of for hanging clothes. Based
on the results above, which material, X or Y, is more suitable to be used as a fishing
pole? Explain your answer. 11

(Go on to the next page)

SCORE
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32 Tom conducted an experiment using two identical flasks, A and B, as shown beiow. Each
. flask had a stopper covering the opening and a tube with a drop of red ink in it.

drop of red ink

A pair of
woollen gloves

Flask A Flask B

When Tom held Flask A for 5 minutes, he observed that the drop of ink in the tube moved
downwards and then rose upwards, but when he held Flask B for the same amount of time,
the drop of ink in the tube did not move.

{a) Why did the drop of ink in Flask A evefitually rise when Tom was holding it? {1}

(b) Explain why the drop of ink in Flask B did not move. [}

{c) Alex wanted to make the drop of ink in Flask A to rise even higher than Tom’s. Using

only his hands, what can Alex do to achieve this? 1]
(Go on to the next page)
SCORE |
2R 3




33 Dave conducted an experiment to find out the relationship between the height at which a
wooden ball is released and the height at which an eraser can reach. When the wooden ball
was released, it fell and hit the balance scale at point X. The balance scale then tilted
downwards and caused the eraser to launch upwards.

retort
Ruler A [3Stand wooden
N ball
o ]
Heightof |}
release F 3
_ 3 Ocm
. 1 3
C ‘ ] 2
. Ruler B 3
point X pajance
/ scale
table erasger
r37 ,0cm
¥
©
(a) Identify the form(s) of energy that the wooden ball had: 1

i) just before it was released.

iiy  when it hit the balance scale at point X.

{This question continues on page 5.)

~ (Go on to the next page)
73 ) SCORE |




(b) Dave plotted the results on a graph shown below.

Height the 4
eraser
reached

(cm)
10 1
__ Height at which the
0 4 wooden ball was
released (cm)

i) Based on the graph, what can Dave conclude about the relationship between the
height at which the wooden ball was released and the height at which the eraser
reached? {11

i)  When the wooden ball Was released from a height of 0 cm as indicated on Ruler
A, the eraser was able to reach a height of 10 cm on Ruler B. Expiain why. [11

(Go on to the next page)
2k f SCORE
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34 Jared wanted to find out if the amount of roots a plant has affects the amount of water it can
absorb. He carried out an experiment using the set-up shown below.

Plant

He left the set-up undisturbed for two days in the garden. The amount of water only
decreased in Set-up 1.

{a) What is the function of the stopper? ‘ {1}

{b) Why did the volume of water in Set-up 1 decrease after two days? {1}

{Go on to the next page)
SCORE |

Ve




7

35 Mr Tan went overseas for a week. When he returned, he observed that his plant had wilted
as shown below.

When a plant is wilting, the stomata on the leaves either cloée or reduce the size of their
openings.

{a) How does the closing of the stomata help the wilting plant stay alive? [1]

©

{b) The rate of photosynthesis of the plant decreases when the plant is wilting. Give two
reasons for this. ) 2]

(Go on to the next page)
SCORE

44




36 Jared wanted to find out if the colour of the light affects the rate of photosynthesis. He set up
the experiment in a dark room with a torchlight producing white light. The number of oxygen
bubbles produced by Plant T in ten minutes was counted. The experiment was then
repeated, with the torch wrapped with a transparent blue plastic sheet giving out blue light.

layer of oil
- - =] — — transparent blue
beaker — | _ | o |_ _ _ plastic sheet
- - _:: — bubble
- - — e — ] torch light
— — —| - — — /
plant T ——— .
S— —,

l 0 10 20 30 40 50 60 70 80 so:oo}—‘—"'u’e’

Jared’s readings are as shown below.

Number of bubbles produced in 10 minutes
1y 2™ try 39 try
White light 6 5 6
Blue light 4 4 4
(a) Jared used the same Plant T throughout the experiment. Give a reason why using the
) same plant helps to make the experiment a fair test. [11
(b} What can Jared do to increase the number of bubbles produced by Plant T? 1]

{c) Jared wanted to find out if the temperature of water would affect the rate of
photosynthesis for Plant T. Apart from using the same plant, suggest two other

variables that he has to keep constant when conducting his experiment. [1]
(Go on to the next page)
score | = /]
3 |
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Kathy set up the circuit below with new bulbs and batteries. She connected four objects W,
X, Y and Z to the electrical circuit as shown below. Bulbs B1, B2, B4 lit up while B3 did not.

She then shifted the position of the objects W, X, Y and Z as shown below.

Set-up 1

B4

{(a) Which bulb(s) would light up in Set-up 2? Explain your answer. £2]
{b) Givean example- of a type of material that objects Y and Z could be made of. [1]
Gy
() Z:
(Go on to the next page)

28

SCORE
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38 The diagram below shows an experimental set-up. It is made up of two sealed beakers of the
same size, each containing 500 ml of water at 50°C at the start of the experiment. Beaker B
is wrapped with a layer of wet cotton wool.

thermometer
sealed
container layer of
wet
cotton
500 ml of wool
50°C
water

Beaker A

The temperatures of the water in the beakers were measured at regular intervals and the
results tabulated as shown below.

Beaker B

°C
Beaker : - Temperatu;e (°C) i :
5 min 10 min 15 min 20 min 25 min
A 50 45 40 38 35
B 50 43 39 35 30

(a) Beaker Awas used as a control set-up. Explain the purpose of the control set-up in this
experiment. 1]

(b) Explain how the layer of wet cotton wool helped the water in beaker B to reach a lower
temperature than beaker A at the end of the experiment. : 11

{This question'tontinues on pgage 11.)

~ (Go ontp the next page)
A SCORE
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33  Apolar bear has a layer of fur to help keep it warm in a cold environment. When the polar
bear climbs onto dry land after a swim-in the ocean, it shakes its entire body to remove the
water trapped in its fur, as shown below.

Picture taken from hitp7/awww. e %

{c) Explain how this behavioural adaptatjon helps the polar bear in keeping warm. ]

{Go on to the next page)
30 SCORE
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39 The diagram below shows a water container with fan blades and nozzles attached to it.

nozzle

fan blade

tubing

container

water

Water in the container is being transported through the tubing to the nozzles, which sprays
out the water in the form of ‘fine mist’.

(a) When the ‘fine mist’ is being sprayed into the air, the surrounding air becomes cooler.
Explain why this is so. [}

The fan blades on the device are made of rubber and they will start tuming only when the
user presses a switch on the container.

{b) Explain how switching on the device helps to make the surrounding air cool faster. [1}]

{c) Without making any changes to the device, state one method which can make the

device cool the surrounding air even faster. {11
{Gadn to the next page)
SCORE
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40 The diagrams below show a seedling at two different stages in its life cycle.

Stage X

Stage Y

(a)  Which of the following factors below will allow the original seed to develop into stage

X? Put a tick (v) beside the correct factors.

i

Factors

Tick (V)

Presence of water

Presence of oxygen

Presence of carbon dioxide

Presence of nutrients

Presence of light

Presence of heat

(b) Identify part P.

[

(c} Explain why part P becomes smaller as the leaves of the seedlings become bigger. [1]

32

{Go on to the next page)
SCORE
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14

Roy conducted an experiment as shown below. He placed a magnet at one end of surface A
and placed a steel ball at the other end and observed what happened.

steel ball _

magnet

/
surface A

recorded his observations in the table below.

- Roy repeated the experiment using the same magnet and steel ball but with surface B. He

_ Time taken for the steel ball to be attracted
Surface to the magnet (s)
] Try 1 Try 2 fgy 3
Surface A 1.2 1.0 1.2
Surface B 1.3 1.2 1.3

(a) Based on the resuits, which surface was smoother? Explain why. {1}

{(b) What will happen to the time taken when lubricant is applied on the surfaces? Expiain

why.

[2]

R

{Go on to the next page)
SCORE |~
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42 George wanted to find out if the survival of submerged plants would be affected by the
presence of floating plants.

George used identical glass containers with the same amount of water. He also used the
same type and amount of submerged plants. He placed the set-ups below by the window.

Set-up A . Set-up B Set-up C
oD D foatin
P Py p,amsg
—
submerged
% ;% plants

glass container

After three days, all the submerged plants were still alive.

How can George improve his set-ups or experiment so that he can observe an effect on the
submerged plants? vi]

Improvement 1:

Improvement 2:

3k
(Go on to the next page)
SCORE
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43 Gareth wanted to find out how fast different types of wood could bum. He used the set-up as
shown below. Once he had lit up the wood, he quickly covered the container with the lid and
made his observations. He repeated his experiment with the other types of wood.

lid lighter

S O

container —|

wood

(a) Gareth repeated the experiment with the wood being broken into smaller pieces. He
observed that.the small pieces of wood burnt faster. Explain why. 1]

©

(b) Give one example of a pollutant released into the surrounding air as a result of
deforestation by burning. 1]

(c) Deforestation by buming causes global wamming. Explain how. {1}

35

{Go on to the next page)
SCORE
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44 A, B, C, D and E are five living things in a community.
The following statements show the food relationships between the five organisms.

Cis eaten by B and E.
Dis eatenby Band C.
AeatsBandE.

{a) Draw the correct arrows to complete the food web below using the information above.

(1

D C
E
- B
A
(b) How many food chains are there? 1]
{c) Which organism(s) is/are both a prey and a predator? 1
3¢
" End of Paper SCOREJ
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Section B
Qn Suggested Marking Scheme _
31a | Flexibility (1) N )

Angle of pole holder (¥2)/Position where weight is placed (%:)/Distance between the pole holder

31b | and pole (%)/Height between the pole and the ground (%)
31c | Y. It bends without breaking (1). '
The air in the flask gains heat from his hands (%) causing the air to expand (%) and push the
32a drop of red ink up.
22b The woollen gloves are poor conductors of heat (V2) and reduce the rate of heat transfer (V%)
from the hand to the flask.
32¢ Rub his hands together before holding the flask. (1)
Put his hands in a basin of hot/warm/warmer water before holding the flask. (1)
33ai | (Gravitational) potential energy (¥2)
33aii | kinetic energy and (gravitational) potential energy (V%) 7
33bi_| Higher/greater the release height of the ball, higher/greater the height the eraser will reach (1).
33bii | The ball was on the table/above ground (¥%), so the ball has (gravitational) potential energy (72).
34a | To prevent/stop/not aliow evapordtion (1).
. 34b | The roots of the piant has taken infabsorbed water (1).
1 35a | It prevents/decrease/slows down water loss (through the stomata) (1).
1) When the stomata closes, carbon dioxide is not able to enter the stomata and the rate of
photosynthesis would drop (1).
When the stomata reduces in size, less carbon dioxide enter the stomata and the rate of
35b photosynthesis would drop (1)
2) When the amount of water absorbed decreases/no water is absorbed, the rate of
photosynthesis decreases (1).
The plant does not have enough water for photosynthesis (1).
Using the same plant will ensurethat the number of leaves will not change the rate of
36a photosynthesis (1).
Ensure only the colour of light affects the rate of photosynthesis (1)
As the type of plant can also affect the rate of photosynthesis {1).
Increase the amount of carbon dioxide in the water (1).
Increase the amount of light given to the plant (1).
36b | Increase the intensity of the light (1).
- | Bring the torch light near the beaker (1)./Use a brighter torch light (1).
Increase the number of torch lights (1).
Intensity of light (2)/Colour of light (¥2)/Amount/volume of (dissolved) carbon dioxide in the water
36c (‘/z)/_Amountlvqume of water (¥2)/Distance between the beaker and the torchlight (12)/The layer
of oil (}2)/The type of torchlight (}2)/Size of plant (}2)/ Size/type/material/thickness of beaker (%)
372 None'(of the bulbs would light up) (1) because Y is an insulator of electricity / not a conductor of
electricity (¥2) hence it creates an open circuit (¥%).
37b (i) Y: Glass, wood, porcelain, plastic, rubber (non-electrical conductor) (%)

(i) Z: Metal (electrical conductor) ()




Beaker A helps to show that the (faster) changes in the difference in the temperature of the

8a water is only due to the layer (wet) cotton wool (1).
38b | The water in beaker B loses heat faster to the wet cotton wool (1).
Removing the water trapped in its fur reduced the amount of heat lost from the body to the water
(1 _
38c Water is a better conductor of heat than air therefore water will cause it to lose heat faster to the
surroundings (1).
292 The surrounding air loses heat to the water droplets/mist (1).
The water droplets gained heat from the surroundings (V2) and evaporated (Y4).
39b Itincreases the rate of evaporation {¥2), hence more heat is transferred from the air to the water
droplets (*2).
39c' Fan blade tumn faster (1) / Spray more water / spray faster (1) / Uses cooler/colder water in the
hottle (1) / Put icefice water into the water (1)
Factors Tick {v)
Presence of water v
Presence of oxygen v
40a || Presence of carbon dioxide
Presence of nutrients (¥') optional
Presence of light
Presence of heat v
40b | Seed leaves (1)
40c¢ | The seedling uses up the (stored) food in the seed leaves, so it becomes smaller (1).
41a | Surface A, as the time taken for the ball to be attracted to the magnet is shorter. (1).
41b It becomes shorter (1) because the lubricant would reduce the friction () between the ball and
the surface (%%). o
Put more floating plants in set-ups B and C (1)
42 Increase the number of days / duration of experiment / observe them over a longer period (1).
Cover the side of the glass containers with an opaque material (1).
Used containers made of an opague material such as metal (1).
43a | The increased (exposed) surface area / contact area of the wood with the fire (1).
43b | Smoke / haze / ash /soot/ dust (particles) / smog / carbon monoxide (1)
43¢ | Carbon dioxide released from burmning traps heat on Earth (1).
i N
44b | Three / 3 (1) -
44c | Band E (1)

END |




